0ff &F Al 3 N A
== | & 2 BES] H
0l = ot
3= &
2stzte )
(o
CHB B9 (3H) - B A Ol &F o4 %@ﬁ 2t
35,719,734 37,827,472 N2,107,738
= 2,165,450
Xl 9,325,000
J| 3,614,000
&< 20,615,284
S 2350 2 2 35,638,014 37,341,812 N 1,703,798
= 2,165,450
Xl 9,325,000
J| 3,614,000
= 20,533,564
St&EE 5,657,800 4,586,794 1,071,006
Xl 2,072,000
== 3,585,800
St Al E S 2,217,250 2,370,750 A 153,500
Xl 1,820,000
== 397,250
oIz2tol ™ 40,000 30,000
DIZFAMAIEE X 40,000 30,000
ORI ANRAAAE D= 10,000
OZSHHEETESSJAHAE: T2 & K& 30,000
308 MXISHMSOIA 357,250 292,250 65,000
01 AIXSHMENEXZ 357,250 292,250 65,000
OXNLSSIIAANSE=XH 165,000
OS2 AZ22AIS Al 50,000
OXY 23S E S2AE X 47,250
O2stadgs & 23 EHOIX JIs
g2 45,000
OXgz3ss gsAMg XA 30,000
OXNg2sa T2 XAY (2IHA) 20,000
403 XX SHHS K20 & 1,820,000 2,068,500 A 248,500
Xl 1,820,000
01 XIS AES2E X 1,820,000 2,068,500 A 248,500
O={tE23a HE 320,000
N 320,000
OtHetE st = 1,000,000
Xl 1,000,000
Oulr2 3t 500,000
N 500,000
SAY 29 493,050 338,050 155,000
Xl 252,000
= 241,050
QutAY| 26,000 20,000
A2 22| dl 19,200 13,200
Osd 2354 13,200
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AN 230 =n
HE: 29 200 ZIMY 23
&2 XYolls 9 M2 (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=4 Z0F =2 A X3AHY 790,500 748,900 41,600
= 395,250
< 395,250
307 glz2tol & 790,500 748,900 41,600
= 395,250
< 395,250
02 It A AHEE 790,500 748,900 41,600
O=3A=Z0F Oi=2ZA NI 790,500
= 395,250
= 395,250
SEMBENAY 70,000 104,000 A 34,000
J| 35,000
< 35,000
307 21201 A 70,000 104,000 A 34,000
J| 35,000
< 35,000
02 QIAHFAAHEX 70,000 104,000 A 34,000
OALZEIZ ALY 70,000
J| 35,000
< 35,000
st ==HE Ot 70,000 68,000 2,000
J| 10,000
< 60,000
308 A EHHSOIA 70,000 68,000 2,000
J| 10,000
< 60,000
01 HXNHHNBHELS 70,000 68,000 2,000
OM56al St=2K0==H &t 51,000
J| 6,000
< 45,000
OHM2238 8=2FAd=0=HM &0t 19,000
J| 4,000
< 15,000
NE 23tz nsHE A 300,000 300,000 0
= 150,000
< 150,000
307 21201 A 300,000 300,000 0
= 150,000
< 150,000
02 IS AHEE L 300,000 300,000 0
OZAzZsMznSANIAME X 300,000
= 150,000
< 150,000
=23 =TS MY 48,000 248,000 A 200,000
201 24l 18,000 18,000 0




fAM: 230z
M =Y F0=2 FHH 25
el Agols 92 M (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 18,000 18,000 0
OZFEZE =2 02858 &oAds 29 12,000
OEU D=3 2l 6,000
308 XXM SO0l A 30,000 230,000 A 200,000
01 HIXNHHBNEES 30,000 230,000 A 200,000
OZ3=F=2HMol=H 30,000
AN EZ3 =N SAY 255,000 245,000 10,000
= 245,000
< 10,000
307 21201 A 20,000 0 20,000
= 10,000
< 10,000
02 QAFAAFEE 20,000 0 20,000
OXNAELsAY 28 & dot 20,000
= 10,000
< 10,000
308 AHAIEHHSOIA 235,000 245,000 A 10,000
= 235,000
01 AXNSGHBLAEES 235,000 245,000 A 10,000
OAzZattlzsn s (XNESL S 235,000
= 235,000
sZA0i=H A 100,000 200,000 A 100,000
Xl 100,000
308 XXM SO0 A 100,000 200,000 A 100,000
Xl 100,000
01 IXNHHBNEES 100,000 200,000 A 100,000
O3ZXA0i=sdldgel 100,000
Xl 100,000
Ae2st=2sid 849,000 827,000 22,000
J| 300,000
= 549,000
307 glz2tol & 381,000 359,000 22,000
04 QIZFHALAIH B & 381,000 359,000 22,000
OXZzstilsgs XN 341,000
OO0tItE Helol |FXZE 40,000
308 XXM SOIA 468,000 468,000 0
J| 300,000
= 168,000
01 IXNHHBAMNEES 468,000 468,000 0
OaxdXd (s X 18,000
Ostd&E dSREMA 450,000
J| 300,000
< 150,000




2N
X ZH -
L= B
el

o
Zato=2
folle g

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ROtIl= 2t sAtY 226,000 277,400 1,400
201 24l 10,000 7,000 3,000
01 At 2t 2l 10,000 7,000 3,000
OXotIt=2stets do=2d 10,000
308 XXl E X SO0l 216,000 270,400 A 54,400
01 AXHHBIYEES 216,000 270,400 A 54,400
OXOII=E3Es 216,000
Sz 23 5,710,206 5,719,106 A 8,900
308 XX EHH SOl A 5,710,206 5,719,106 28,900
01 HXNHHNBHEES 5,710,206 5,719,106 A 8,900
Osg=a2dd 24 1,529,577
Osgngsdet 29 2,586,529
Osg=%4t 24 1,164,805
Osgd3=xd 29 329,295
O3gu=st =Xl 100,000
NS 20 =AM 763,000 410,500 352,500
201 £B-2%H| 300,000 150,000 150,000
03 A2 Z Hl 300,000 150,000 150,000
O=Ue RE0=t 20a2 3 300,000
308 XXM SOl A 463,000 3,000 460,000
01 IXNHHBNEES 463,000 3,000 460,000
Ozt =20 =H 3,000
OXNGZstt =&AL XI& 460,000
ANEZso=EdHES K& 114,000 114,000 0
308 AHAIEHHSOIA 114,000 114,000 0
01 HXNHHNBHEELES 114,000 114,000 0
S BSA mael HE -HO03 60,000
OFMFEEIFASUS 54,000
ANASEASHAS 2,005,000 1,146,500 858,500
J| 1,112,000
< 893,000
307 21201 A 2,005,000 1,146,500 858,500
J| 1,112,000
= 893,000
02 IS AHE L 2,005,000 1,146,500 858,500
OXNZEal=SEaAS 1,458,000
J| 729,000
< 729,000
OZHZa=cH S8XA 547,000
J| 383,000




fAM: 230z
M =Y F0=2 FHH 25
el Agols 92 M (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| < 164,000
SEES0I2HAE 2,365,500 1,861,200 504,300
J| 2,157,000
< 208,500
307 glz2tol & 212,100 210,450 1,650
J| 3,600
= 208,500
02 It M AHEE 212,100 210,450 1,650
Osgzsolsd JI&=AY X3 212,100
J| 3,600
< 208,500
308 XtXIEHHSOIA 2,153,400 1,650,750 502,650
J| 2,153,400
01 AXHHILEES 2,153,400 1,650,750 502,650
O=g a0l IHEAY XA 2,153,400
J| 2,153,400
S20=H 100,000 100,000 0
307 glz2tol & 100,000 100,000 0
02 IS AHE L 100,000 100,000 0
Osgu=H 100,000
EQFsstn 29 560,000 0 560,000
= 280,000
< 280,000
307 izl & 560,000 0 560,000
= 280,000
< 280,000
02 It HAHEE 560,000 0 560,000
OEREststn 29 560,000
= 280,000
< 280,000
Z3ANE &5 ¥ 2F 15,654,008 20,385,412 A4,731,404
= 1,095,200
Xl 7,153,000
< 7,405,808
SSTHM2 HE N 900,000 0 900,000
Xl 900,000
403 XIS E X201 & 900,000 0 900,000
Xl 900,000
01 XXM A2E = 900,000 0 900,000
OOt S2 M2 2HEl 300,000
X 300,000
OFgdsHET A HE 600,000
Xl 600,000
S3EM2 H2Al2t AE 745,200 712,600 32,600




25 230z
HM: S 2= ™A 4G
Sel 2HAE 5 L 2 (29l & 2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 745,200
308 XAXIGHHM SO0l & 745,200 712,600 32,600
= 745,200
01 IXHHIMNEXS 745,200 712,600 32,600
O3S A Jf2AI2F AEX& 745,200
= 745,200
A2 24 X 425,000 522,500 A 97,500
= 350,000
o= 75,000
403 XX SHHMS X201 A 425,000 522,500 A 97,500
= 350,000
= 75,000
01 XIS A2E X 425,000 522,500 A 97,500
OX2EAMS =4 XS 425,000
= 350,000
& 75,000
M2 29 367,500 270,000 97,500
308 XX EHSOIA 287,500 270,000 17,500
01 AIXSHMEMNEX= 287,500 270,000 17,500
A2 2 29 280,000
M2 M2 SAAFRY AR 7,500
403 XX SHHMS K201 A 80,000 0 80,000
01 XS A=2E X 80,000 0 80,000
Oz2c & 229 X 80,000
SN2 A 2 2d & 194,308 136,312 57,996
207 I & 50,000 0 50,000
01 A 50,000 0 50,000
OCEE A HEB5 Me(ISP) HaE4LE 89 50,000
307 QI2t0| ™ 144,308 136,312 7,996
03 AL BEESIHES 144,308 136,312 7,996
OEHENEANAS 29 XH 144,308
g2 o s S 234,000 187,000 47,000
201 gBt2Ay| 4,000 4,000 0
01 AP 2t 2| H| 4,000 4,000 0
Otz & Nz =3 94 4,000
308 XHXIEH SO0l & 130,000 80,000 50,000
01 AIKISHHEMNEXZ 130,000 80,000 50,000
Ottt 2 Nls2 29 43 X 130,000
403 XX SRS K 20| & 100,000 50,000 50,000
01 AXESHHIE2E X 100,000 50,000 50,000




2N 230z
M =Y F0=2 FHH 25
el 2HAIL HE U 29 EEREED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O22osEEa Ald HE=> 100,000
F3AE IRAMSEEX =3 (BTL) 2,033,000 1,833,000 200,000
Xl 2,033,000
308 XXX SO0l A 2,033,000 1,833,000 200,000
Xl 2,033,000
01 IXNSHHEBAMNEES 2,033,000 1,833,000 200,000
OXotEE =32 2UXAIY B2RS3 641,000
Xl 641,000
OFUAER(FH)EAZ 2NAME BEX=SS 228,000
Xl 228,000
OGNS AE=HMEH UNAYE ERI=23 807,000
Xl 807,000
OHE=EIatal 2 QUMY B2XNS3 357,000
Xl 357,000
HEAMTZ Al 23AIE HE 10,545,000 16,224,000 A5,679,000
Xl 4,020,000
< 6,525,000
401 Al HI 2 2B 10,545,000 16,224,000 25,679,000
Xl 4,020,000
< 6,525,000
01 A& HI 10,545,000 16,224,000 A5,679,000
OZHZNZ UF(HASAMEFT S) 10,545,000
Xl 4,020,000
< 6,525,000
MEAN SHE 22 ¥ 2 10,000 0 10,000
201 Let24d]| 10,000 0 10,000
01 At 2teltl 10,000 0 10,000
O3¢HE 29 22l & 225 7 10,000
=80l=a 28 XA 200,000 500,000 A.300,000
Xl 200,000
403 XXM S X201 200,000 500,000 A300,000
Xl 200,000
01 AXSHMA2E = 200,000 500,000 A 300,000
oz osal|gnlsa A 200,000
Xl 200,000
HH2LZH(2st0=1t) 81,720 85,660 A 3,940
Jl23 4l 81,720 85,660 A 3,940
Z23t0l=n et 81,720 85,660 A 3,940
201 £B-2d| 36,000 38,000 A 2,000
01 At 22l 36,000 38,000 A 2,000
O2=gRF 36,000
202 oddl 34,920 36,860 A 1,940




<

n0

Kio

Hl w

A 1,940

H3r
Wikd
RIS

36,860

10,800

Off &t 24

34,920
34,920

10,800

01 SLHOYI

4
KF
o
31
pl

oy
0H

J
KE
ok
ol

6,600
4,200

6,600
6,600
4,200
4,200




